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Quiz Date: 27th March 2020

Directions (1-5): Study the information carefully and answer the questions given
below.

Six persons P, R, U, V, W and T are sitting around a triangular table such that three of them
sit at the corners and the rest on the middle of the side. The one who sits at the corner face
away from the center and the one who sits at the middle of the side face towards the center.
They also like different bikes. One of the persons likes Hero bike. P sits second to the left of
the one who likes KTM. Only two persons sit between W and U. V sits second to the left of the
one who likes Suzuki. W sits second to the right of R. Neither V nor W likes KTM. The one
who likes Harley sit second to the right of the one who likes Honda. U sits middle of the side
and likes Bajaj. P does not like Hero.

Q1. Who among the following likes Hero?
(@P
(b)U
(T
(dR
(e)Vv

Q2. Who among the following sits immediate right of the one who likes KTM?
(@R

(b) P

(AU

(dT

(e) None of these

Q3. How many persons sit between P and R, when counted right of P?
(a) Two

(b) One

(c) Three

(d) Four

(e) None of these

Q4. What is the position of V with respect to T?
(a) Immediate left

(b) Third to the right

(c) Immediate right

(d) Third to the left

(e) Second to the left

Q5. Four of the following five from a group, which among the following does not belong to
this group?

(a) U-Hero

(b) T-Bajaj

(c) R-Honda
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(d) V-Suzuki

(e) P-Harley
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Directions (6-8): In each of the question below is given a statement followed by three
courses of action numbered I, II and IIl. You have to assume everything in the
statement to be true, then decide which of the three given suggested courses action
logically follows for pursuing.

Q6. Statement: The exodus from villages to cities is detrimental to both.
Courses of action

[. Rural posting must be made mandatory.

II. There should be fewer trains linking cities to smaller places.

[II. Employment generation scheme should be launched in rural areas.
(a) Only II follows

(b) Only I and II follows

(c) Only III follows

(d) Only II and III follows

(e) None follows

Q7. Statement: There was a spurt in criminal activities in the city due to the recent festive
season.

Courses of action

[. The police should immediately investigate the causes of this increase.

[I. In future the police should take adequate precaution to avoid recurrence of such situation
during festival.

[II. The known criminals should be arrested before any such season.

(a) Only II follows

(b) Only I and II follows

(c) Only III follows

(d) Only II and III follows

(e) None follows

Q8. Statement: Besides looks and appearances, it is also important to develop oneself from
within.

Courses of action

[. One should not pay attention to fashion.

II. One should pay attention to fashion.

[II. Books on self-development should be encouraged.
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(a) Only II follows

(b) Only I and II follows
(c) Only III follows

(d) Only II and III follows
(e) None follows

Q9. Which of the following will be definitely true if the given expression
K=L=M=N<0=P<QsS is definitely true?

(a)K<O

(b) L>M

(c) S>N

(dS=M

(e) K<P

Q10. How many words can be formed from the 3rd, 5th, 6th and 11t letter of a word
‘TELEWORKING’ by using each letter once in the word?

(a) two

(b) one

(c) none

(d) three

(e) more than three

Direction (11-15): Study the following information carefully and answer the questions
that follow:

In a code language

“Clause calling tolerance” is written as “4&5, 2&7, 3#5”".

“Zero missile programmes” is written as “3#19, 2#15, 3&5”.

“deal and more military” is written as “2#5, 1&4, 3#25, 2#12”".

Q11. What is the code for ‘influence’?
(a) 4#5

(b) 5&4

(c) 4&5

(d) 5#4

(e) None of these

Q12. What is the code for ‘Deal extended’?
(a) 2#12, 3#4

(b) 2&12 3#4

(c) 2#12 3&4

(d) 2&12 3&4

(e) None of these

Q13. Which of the following words could be coded as “2&18, 2&25"?
(a) Other Nation
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(b) National Duty
(c) Duty Pride

(d) Other country
(e) Over country

Q14. Which of the following word be coded as ‘4#12’?
(a) Magnified

(b) Industries

(c) Industry

(d) Materials

(e) Industrial

Q15. What is the code for ‘facilitate’?
(a) 4#5
(b) 5#5
(c) 5&5
(d) 5&4
(e) 5#4
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Solutions (6-8):
S6. Ans.(c)
Main reason of exodus is lack of employment opportunities in rural areas, so III follows.

S7. Ans.(b)

Clearly III does not follows as a novice can also commit the crime. Both I and II follows as it
is the duty of the police to find out the shortcomings in the existing security arrangements
and make up for these inadequacies to strengthen the security and thus prevent criminal
activities in the forthcoming festival.

S8. Ans.(c)
Only III follows as the statement stresses the need for all-round personality development of
an individual.

S9. Ans. (c)

S10.Ans.(b)
Sol. GLOW

Solutions (11-15):

Sol. This coding decoding question is based on the latest pattern, following logic are applied
in this question to decode the code.

(i) The first number of the code represents the Number of vowels in the word.

(ii) If the number of letters in the word is even then “#” symbol is used and if the number of
letters in the word is odd then “&” symbol is used.

(iii) The number at the end of the code is the place value of the last letter in the given word
according to alphabetical order.

Number of vowels
| /\_ in the word

MILITARY — 3#25 No. of letters if odd= & and
if even=#
Place
value of last letter of the
word
S11. Ans.(c)
S12. Ans.(a)
S13. Ans.(d)
S14. Ans.(e)

S15. Ans.(b)
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